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QUESTION 1

Which of the following Is NOT true of Aggregate functions?

A. You can place an aggregate function in a variable port

B. You can add a filter condition to calculate values for specific rows In the selected ports
C. You can use operators to perform arithmetic within the function

D. You can calculate a single value for all rows in a group

Correct Answer: A

QUESTION 2

If after running a session task, it has been determined that the incorrect mapping was run for that session task, which of
the following actions could be attempted?

A. Edit the session task and from the General tab, choose the correct mapping to reassociate with the session task,
then Save and rerun the process

B. At run time, when the workflow is executed, chose the session task with the correct mapping associated

C. Edit the session task and from the Mapping tab, choose the correct mapping to reassociate with the session ask,
then Save and rerun the process

D. None of the above

Correct Answer: A

QUESTION 3

Based upon the graphic below, which answer correctly discribes the outcome of this workflow\\'s execution given the
start method: (The workflow is valid)

- Workflows > Start Workflow A. All objects displayed will be executed
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B. The Start task only will be executed
C. The Start task and the link will execute, while the session task will wait to execute
D. The Start task and link only will be execute

Correct Answer: D
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QUESTION 4

The HTTP Transformation supports which HTTP Methods? (Choose all that apply) Choose 2 answers
A. DELETE

B. GET

C. POST

D. PUT

Correct Answer: BC

QUESTION 5

Refering to the Lookup transformation, which statement is correct and true?

A. The lookup condition defines how much memory each of the two caches will consume
B. The lookup condition defines the fields that are used in the search of the data

C. The lookup condition is limited to only the equal operator

D. The lookup condition is designated in the ports tab interface via the "L" check box

Correct Answer: B
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